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However with a utensil, all agree his liable ~ — 2971 %577 5927 922 92N

OVERVIEW

T1YoR ' (the X71mK) said that the dispute between the o°non and 71v°%X 21 (whether
one is 211 for cutting one’s nails) is only when he cut them by hand, but if he used
a utensil (a scissor) to cut his nails, all agree that he is 2»n.! Our mpoN qualifies
and clarifies this statement.
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This 211 7"7 is according to 3'"2 who holds one is 2517 by a 3">2Rwn —

mooin asks:
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And if you will say; but perhaps the 3139 (of our 71wn) agree with w'9 (that
A"OXRWN is D), so how does X" know that the 13127 of our mwn maintain that if
he cut his nails “»22 that he is 2»n?!

N1v0IN answers:
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And one can say; that if indeed it is so that the 7127 in our 7wn agree with ¥"
that a 2"2¥Xwn is 7o, they should argue with X"3 in a case where he cut his nails

“923, in order to teach us the ‘strength’ of the 3139, that not only is he 712 if he cut
them 7°3, but even if he cut them 932, he is also Mw>.

m»oIn responds to an apparent difficulty:
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! Cutting one’s nails is a 7770 of 113, shearing the sheep, which was done in the 19w to use the wool for the pwn.
2 However TWnW "1 maintains 3"™2%Xwn is 710D,
3 See w"M "7 'o1n on the previous Ty that a 3"XXwn is when the 79871 being performed is not for the same purpose
as it was performed in the 1Dwn. In the 10wn the shearing was done to use the wool (see footnote # 1); however here
the cutting is done to get rid of the nails. Therefore this '71"7" assumes that everyone in the 71wn» agrees with >,
4 How can 1¥oR ' (the XnR) say that the onan of our 7awn agree that °232 he is 21, perhaps these o°mon agree with
" that 2"9¥RWn is MWD, so even 732 he will be Mo because it is a A"2¥RWA.
5 Since the 1137 are only 101 by 7 this shows that by *23 they agree to 71¥°%x " that he is 221 for they maintain
A"DxRwn is 21 like *".
¢ One cannot answer that the 73wn has the 72 np1onn in order X"77 13 Tv°717> (that he is 2°11 even 7°2) for when there
is a choice we always say 77V X077 n2; the greater W17 is always in being 7°n», not in being 10X, Additionally
the mawn could have simply added, 932 n& 001 DMOM.
7 mpon just concluded that the 1327 of our 71wn maintain 3"2¥Xwn is 2’7, so why would we think that they maintain
o °732. See ‘Thinking it over’.
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And this which the X711 states, ‘one would have thought that the 3129 are "vp

even by a 82’3 why should we assume so? mMoo1n responds -
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This is the explanation of the X»°n7 wn; perhaps the 7127 agree with @' (that
A"DXRWN is o), as I explained.

n19oIN cites °"wo on the 'kn°nT A"
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However >'"'w9 explained that the reason why I may have thought that the 13127 are
“1us even °722, is because shearing is only applicable by wool, but not by nails —

moon disagrees:
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And it does not seem correct to the ', for no one could have been mistaken
in this (to assume that 7113 is only 7n¥1), since 71913 is applicable to all live
things -
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As the X713 ruled previously, ‘one who pulls out a feather from a bird is liable
on account of 1713.” We see that there is 71°T2 even by feathers, not only by "»z.

SUMMARY
The 7127 of our 71wn follow "1 that 3"2¥RWn is 2°1.

THINKING IT OVER
What is the advantage of >"w1 over '0wni1 " regarding the X»°n7 yn? 1

8y .
91,7y,
10 See footnote # 7 and *n YW naw.
2

TosfosInEnglish.com



